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I. Vocabulary and Usage: Choose the best answer to each question.
1. The Council of Agriculture Minister said that the egg shortage will be by the end of April.
(A) replenished (B) revoked (C) reproached (D) expelled
2. World leaders meeting at the United Nations in New York Russia’s invasion of Ukraine.
(A) alleviated (B) deported (C) confiscated (D) denounced
3. The true global death toll of Covid-19 remains difficult to nail down three years after the first case was
detected. The could be far higher than officially reported.
(A) mortality (B) morality (C) morbidity (D) mobility
4. Over and over again, the civic education teacher has the importance of democracy in his class.
(A) exonerated (B) reiterated (C) circumvented (D) abolished
5. Chinese Angelica roots (Dang Gui) have few side effects. However, when used in large doses, they can have
effects on blood pressure and respiration.
(A) adverbial (B) adversary (C) advocate (D) adverse
6. This region is so damp that moisture seems to everything. Towels wouldn’t dry and windows are
always foggy.
(A) perpetrate (B) permeate (C) proliferate (D) perspire
7. When your bowel movements become less frequent and stools become difficult to pass, you may have
(A) infarction (B) constipation (C) diarrhea (D) paralysis
8. Astragalus (Huang Qi) contains beneficial plant compounds that may your immune system.
(A) reinforce (B) enforce (C) mitigate (D) petrify
9. This month Taiwanese nationals and eligible foreign residents can receive NT$6,000 tax from the
surplus tax revenue of last year.
(A) attrition (B) attribute (C) rebate (D) evasion
10. is a condition in which the joints become swollen and painful, making it difficult to move them.
(A) Osteoporosis (B) Hepatitis (C) Bronchitis (D) Arthritis

I1. In the TV show "Grey’s Anatomy," the main character, Dr. Meredith Grey, works as a/an

specializing in the treatment of diseases and conditions affecting the female reproductive system.

(A) oncologist (B) cardiologist (C) gynecologist (D) dermatologist
12. 1 to be up-to-date about current medical news, and I get all my information from various sources.
(A) stray (B) strive (C) gratify (D) content
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13. The nurse’s attention to the patient’s needs was appreciated.

(A) ruthless (B) negligent (C) meticulous (D) indifterent
14. The best advice for learning a language is to yourself in it.

(A) decompose (B) resemble (C) immerse (D) synthesize
15. The doctor used a to listen to the patient’s heart.

(A) telescope (B) microscope (C) kaleidoscope (D) stethoscope

II. Grammar: Choose the best answer to each question.

16. They will leave tomorrow morning, weather

(A) permitting (B) permits (C) permitted (D) to permit
17. According to a survey, the size of a man’s eyes is generally a bit smaller than .
(A) a woman’s (B) those of a woman (C) that of a woman (D) that of a woman’s
18. If you ,  would have brought my friends over to your house this evening to watch TV, but I didn’t
want to bother you.
(A) have not studied (B) were not studying
(C) hadn’t been studying (D) didn’t study
19. Dr. Sale is a person
(A) in whom I don’t have much confidence. (B) I don’t have much confidence.
(C) whom I don’t have much confidence in him. (D) whom I don’t have much confidence.
20. I’'m sorry I never graduated. I’ve always regretted not college.
(A) to finish (B) finished (C) to have finished (D) having finished
21. The most serious health problem infectious diseases. Today, the number one health problem in
the United States is obesity.
(A) was used to be (B) used to have been (C) used to be (D) was used to being
22. Women from migraine headaches than men.
(A) are more likely to suffer (B) are more likely to suffering
(C) are to more likely suffer (D) are to more likely suffering

23. Steven: I didn’t expect Ann’s husband to be here at the opera with her.

Jo: 'm surprised, too. Ann must have insisted with her.
(A) that he will come (B) that he came (C) on his coming (D) on him coming
24. We have 206 bones and we are seventy-three percent water.
(A) made into (B) comprised of (C) made up (D) consisted of
25. The doctor recommended that the patient to quit smoking.
(A) try (B) tried (C) tries (D) trying
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III. Cloze Test: Choose the best answer to each blank.

Passage 1

Gravity has been at the top of the science agenda since the start of Mars missions. In the earlier days of
space travel, scientists tried to overcome the force of gravity so that a rocket could shoot _ 26  Earth’s pull
in order to land humans on the moon. Today, they are more interested in how reduced gravity affects the
astronauts’ 27 condition. Our bodies have evolved to exist within Earth’s gravity, not in the
weightlessness of space or the microgravity of Mars. When on Earth, we have more fluids in our lower body
because they are pulled down by Earth’s gravity. However, with the absence of gravity in the outer space, our
body fluids redistribute, shifting toward the upper body and the head. _ 28 , the astronauts have swollen,
puffy faces, very much resembling that of the round-headed Charlie Brown in the famous comic strip.
This “Charlie Brown effect” will be more _ 29  when the astronauts go on their Mars missions, which
will take about three years to complete, much longer than missions to the moon. Moreover, the effect is
often _ 30  space motion sickness, headaches, and nausea. Such a syndrome is considered the top health
risk for the astronauts, and scientists are still trying to figure out how it may be prevented.

26. (A) back up (B) free of (C) long for (D) in lieu of

27. (A) abstract (B) sensational (C) catastrophic (D) physical

28. (A) As a result (B) In spite (C) Even though (D) As if

29. (A) contagious (B) lucrative (C) severe (D) aggressive

30. (A) set off (B) brought about (C) deprived of (D) accompanied by
Passage 2

Ferris wheels are popular and beloved by everyone from small to big attraction. Children sitting in baskets
are lifted _ 31  into the sky by an enormous wheel. The first Ferris wheel, named after its American inventor,
Gale Ferris, _ 32 130 years old in 2023. The Ferris wheel was seen and ridden by people visiting the world’s
Columbian Exposition in Chicago. It was 250 feet _ 33  diameter, which was six times taller than any wheel
at that time. It took 20 minutes _ 34  that wheel to turn around once. Thrill seekers paid 50 cents to take a ride.
Today, Ferris wheels are still the centerpiece of any amusement park. Children and adults alike love the view from
the top and the scary sensation of dropping back to earth. To celebrate the Ferris wheel’s 130" birthday, the Illinois
State Fair plans to erect another wheel, making _ 35  of 13 wheels being set up in one location.

31. (A) highly (B) high (C) height (D) heightening
32. (A) turned (B) made (C) took (D) kept

33. (A) with (B) in (C) of (D) over

34. (A) for (B) of (C) at (D) to

35. (A) an amount (B) a number (C) a total (D) a quantity
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Passage 3

A bagel is a ring-shaped bread product made from yeasted wheat dough. It is first boiled for a short time in
water and then baked. The result is a chewy and doughy interior with a brown and crispy exterior. It _ 36 a
wide variety of flavors. People can add cheese, ham or jam to a bagel and eat it for breakfast or dessert. It is a
popular product in North America and Europe, especially in major cities with large Jewish populations. Jewish
people have been _ 37  producing the first bagels since the 19" century, which have long been connected
with Jewish traditions. During the Sabbath, cooking was prohibited as a rule. Therefore, many Jewish families
would make bagels ready beforehand so that _ 38  the Sabbath was over, they could be baked quickly and
consumed. The basic roll-with-a-hole design is hundreds of years old and has practical advantages like providing
a _ 39  baking of the dough. The hole can be used to thread strings, _ 40  for easier handling and more
convenient for vendor displays.

36. (A) comes in (B) come up with (C) comes down on (D) comes across with
37. (A) prone to (B) inclined to (C) derived from (D) credited with

38. (A) once (B) despite (C) regardless of (D) if only

39. (A) more evenly (B) more even (C) more ordered (D) more identical

40. (A) which allows (B) allowed (C) being allowed (D) that allows

IV. Reading Comprehension: Choose the best answer to each question.

Article 1

Multiple Sclerosis (MS) can be a devastating disease. In MS, for reasons still unknown, the body’s
immune system attacks the myelin insulation of nerve fibers. This can cause some of nerve fibers to die, while
others become ineffective during a prolonged period of regeneration. The effects of this nerve damage can
include reduced or spasmodic control of the body, and lowered capacity or disruptions of the senses. For many
people, a vision problem is the first symptom of MS.

Optic neuritis, an inflammation of the optic nerve, is the most common visual disorder associated with
MS. Double vision (diplopia) and involuntary movement of the eyes (nystagmus) are the two other problems.
Nystagmus and diplopia are both linked to inflammation of brainstem areas that control movement of the eye.
The three disorders are not linked to each other and usually occur separately.

Symptoms of optic neuritis include blurred vision, dimming of colors, eye pain that’s worsened by eye
movement, blind spots and loss of contrast sensitivity. These symptoms may worsen over the first few days or
two weeks. Then the condition usually starts improving. Some people recover within a month, while others
need up to a year to recover. Most people regain normal or close-to-normal sight.

Temporary flare-ups of optic neuritis symptoms may also occur. Hot showers or baths, exercise or a fever
may all trigger dimmed color, blurred vision and other visual problems. These heat-related symptoms resolve
when the patient cools off, be it from ice packs, over-the-counter fever reducers, cool drinks, air conditioning
or a soak in a cool tub of water.
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41. Where is the above article most likely to appear?

(A) In a news article about the health dangers of climate change.

(B) In a script of a TV commercial for a company selling placebo for MS patients.
(C) In a physics textbook.

(D) In an information pamphlet about MS.

42. Visual problems in MS are fundamentally caused by which of the following factors?
(A) Frigid temperatures.
(B) Wound infection.
(C) Damaged nerves.
(D) None of the above.

43. Which of the following statements is implied in the above article?
(A) Optic neuritis, nystagmus, and diplopia may occur concomitantly.
(B) The possible symptoms of MS are not limited to vision.
(C) Things that cool the body down can aggravate optic neuritis.
(D) All of the above are correct.

44. Based on this article, methods for treating the visual symptoms of MS are most likely to be found by
research in which of the following areas of medical science?

(A) The study of gastrointestinal system. (B) The study of the nervous system.

(C) The study of cognitive disorder. (D) The study of the lymphatic gland.
45. Which of the following would be the best title for this article?

(A) MS sufferers Show a Variety of Symptoms

(B) Causes, Effects and Treatments of MS Symptoms

(C) The Use of Temperature in Treating MS

(D) Visual Problems Associated with MS

Article 2

Before babies learn to talk and have no idea of dance, they express happiness through simple rhythmic
movements or what we later recognize as simple dances. However, humans are not the only species that can
dance. There are birds that actually have group dances: circling, bowing, advancing, and retreating in unison.
Some species could learn rhythm from birds. For example, bees flirt with dance as part of their mating rituals.

Nevertheless, it is only human beings that have adapted dance to therapeutic purposes. Dance as therapy
has a long history. Primitive peoples first danced instinctively and, after a while, found that repeated rhythmic
movements produced a good feeling. Associations were formed between dance and this positive effect on the
mind and emotions. This was the birth of dance therapy.

Dance has always seemed to have a magic healing power. It was used for a wide variety of purposes and
on different occasions: religious ceremonies, war dances, hunting dances, rain dances, planting and harvesting
dances, marriage and funeral dances. Sadly, today many “advanced” industrial societies have lost many

-5-
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original functions of dance. Purposeful dances have been replaced, for example, with rave dancing which
involves shaking your body at a nightclub. Even so, in these cases, however, the ritualistic and therapeutic
effect of dance can still be seen: the low lights, loud insistent rhythms, and group activity, often building up
into a kind of mass hysteria or ecstasy.

But, the “primitive” use of dance as therapy has recently seen a huge revival. Never before has there been
such interest in courses offering dance therapy. There are nearly two million websites for dance therapy on the
Internet, and dance therapy groups around the world combine pleasure with health and well-being. Dance
therapy nowadays, in fact, is taken very seriously by both alternative and conventional medical practitioners.
It would seem that the “dance of life” continues to move us all.

46. Which is the best title for the article?
(A) Dance as a Therapy (B) Choreography Chronicle

(C) Dances on Different Occasions (D) Dancing Animals and Insects

47. What might be the reason for the birth of dance therapy?
(A) It was found that there were birds that actually had group dances.
(B) Primitive peoples found that repeated rhythmic movements created a positive feeling.
(C) Conventional medical practitioners were asked to offer courses on therapeutic purposes.
(D) Some industrial societies have lost many of the functions connected to these older dances.

48. According to the article, which statement about dancing at the nightclub is NOT true?
(A) It involves group activity. (B) It has the ritualistic effect.
(C) It lacks the therapeutic effect. (D) It fosters a state of pleasurable emotion.

49. Which of the following statements about dance therapy is true?
(A) Dance therapy is one form of flirting.
(B) Dance therapy is something only human beings do.
(C) Medical practitioners do not take dance therapy seriously.
(D) Dance therapy was first performed by animals and insects.

50. Why did the author mention different occasions for dancing, such as religious ceremonies, marriages and
funerals?

(A) To avoid expressing emotions through rhythmic movements
(B) To illustrate dancing as part of mating rituals

(C) To imply alternative doctors’ preferences for dancing

(D) To describe a healing power of dancing
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I. Vocabulary and Usage: Choose the best answer to each question.

1. B % ¢ (The Council of Agriculture) 2 & 3R few ¥ J& v 4% FrPaR % Rpd A /o o
(A) iit £/ 2 (B) Wl R () FF B R (D) SRiE > & AL

2. Bl m L Rt B ATAY § RET R RET A R G LW -
(A) g > #fc  (B) BRE - it (C) iRfT o R (D) £ - dpdx

3. k- B XA MRZ 5= & > COVID-19 th> Tk ey = A fig(death toll) & X 12 ¥ rx % (nail
down) > 7= Hc/F VAR B NE PR ED o
(A) 7= /¥ (B) g4t @ BT (C) mis 2 iEx (D) it > i

4, — F B > DT REFEY A ABTIE g B o
(A) P ..& % > ﬁw,f (B) £ & B (C) - [#1k (D) ;gw,f s By

5.0 Bl BF1R0E )8 TG Bl F ¥ (side effect) » 7 i 0§ + A (dose)ik & * BF 0 T i R
BT g G AR KE /2 Jlami gk o
DR (B) fct - $5 (O HE-AE (D) Wi ApE e A flen

6. iBH FACU IR IR G T REEBAT 0 L P 2§00 § 2 B 0k en(foggy)
(A) B(3EE) (B) = > ik (C) (7 )cH » (78 )44 (D) & F

7. % e 3 (bowel)iB 5 % 9§ F A F > © K  (stool) P P 0 R AL TAST o
(A) L% (B) T4 (C) (D) B » Jr B

8. % ¥ (Astragalus)z 7 F Fe~ PR M Rk B At & o
(A) *v3k o 4 % (B) 7 - 33 if (C) Er iz (D) i+ it

9. i ¥ 5B A (nationals) ¥ & i cifeligible) *h B & § & FRic fe Tk p 202 E i @ 4k
(surplus tax revenue) 7 6000 93¢ o
(A) 44F > B4 (B) Bt Fak (O @i (D) & > FE

10. B & L E - AR & (joint) % " (swollen) 2% & 7 ek i » @ B H v P {FIEEL -
(A) ¥ Fanft (B) **%¢ C) £ 58 %X (D) B &t

11, 23R &p TFY F 2 (Grey's Anatomy)® - i & Dr. Meredith Grey,# 5 — LEEALF AL

AT i B S 4 8k Yi(reproductive system) s g B R o
(A) Eﬁ%%ﬁl%i (B) ,uvgﬁﬁﬁﬁi%?i () z‘ﬁ’?ﬁi%i (D) ﬁ»ﬁéf’[%i
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12, A% 4 Bb ATHEHMATE - P AKERET B RAEFFTR -
(A) B > iR B)s 4 » BM (C) #...% % (D) #..0% &

13 L PR AL E L DF R R IHY

(W) gl s (B) & (Q g ¥ila (D) 4

14, B3 2 a2k I8 e wizdd o
(A) &~ f2 (B) §~resemble (C) M= (D) &=

15. _Fgﬂl’#g& E?gg);};gAm, P;go

(A) %2 ikd (B) A itk (C) &7 D) B =

i
=}

II. Grammar: Choose the best answer to each question.
16. (A) - They will leave tomorrow morning, if weather permits. (833 #?)
—> They will leave tomorrow morning, weather permitting. (4 ?‘;ﬁﬁ 7)
17. (D) - ..., the size of a man’s eyes is generally a bit smaller than the size of a woman’s (eyes).
—> ..., the size of a man’s eyes is generally a bit smaller than that of a woman’s (eyes).
dpm L that * iz o i # the size »
18.(C) - gkt ® 2 1 2L T FApF o
19. (A) ° S have confidenceinO » " A @ X5 Hw o
| don’t have much confidence .
= | don’t have much confidence .
= | don’t have much confidence. (2} % #' % #7)
20. (D) ° regret +@fj %458 ({52 5])
21.(C) - FxErEAVEREEER)EEIN - 5K fEREFE R0V EEZAR -
used to be = was °
22. (A) - Women are more likely to suffer from migraine headaches than men.
23. (C) - insist on + N/Ving = insist that S (should) V... » B
24. (B) ° A consist of B —> A contain B =) A be comprised of B —> A be made up of B
A JE B AL -
25. (A) » The doctor recommended that the patient should try to quit smoking.
= The doctor recommended that the patient try to quit smoking. (3% /2 #35 #* %)

III. Cloze Test: Choose the best answer to each blank.

Passage 1

1 gravity EEp] 2 free of 2 R

3 back up FF o #E 4 long for Y

5in lieu of K& Ik 6 catastrophic SKEEERY > FEI2HY
7 weightlessness 4 B 8 microgravity WEET)

-10-
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9 fluid VLt 10 redistribute o

11 swollen ALY 12 puffy ARACHY

13 comic strip e 14 lucrative BT &y

15 set off s - f@eg 16 bring about R0 G

17 deprive...of .. HER AAEY) 18 nausea & -

Passage 2

1 ferris wheels JEE K iy 2 highly bt - IR
3 high = 4 heightening wWE S s

5 name A after B PAB B AL 6 exposition T

7 diameter JERE 8 thrill T - B

9 centerpiece tp MBS A 10 state fair JN T EE

11 erect = aVARE-avA 12 a total of... aEAt > 2L
Passage 3

1 bagel HE 2 ring-shaped IRRAY

3 yeasted FERELY 4 dough PIE

5 chewy MY > A 5E Y 6 doughy HHE Y

7 come in... PLLGHER - AL 8 proneto N ) TR = 7= 1 =)
9inclined to V BE] - AL EE 10 derive from (EA=M

11 be credited with... | #E2/5H...(Ih% 12 Sabbath Z B H

13 even SEHEAPY 0 AR 14 thread ZE(47)

15 string 4% > 4l 16 allow for... ..

17 vendor /INR

IV. Reading Comprehension: Choose the best answer to each question.
Article 1

% 4 A i (Multiple Sclerosis » MS) ¥ it &_B &= e (devastating) 7 s o o 2T 3 P R
f*_] » «‘JI%E‘* v PR Ak St B A 5 M (nerve fibers) s&LE 15§ B (myelin insulation)
SV o ER-B A R Esr s oa BB SR A E gl 2 (regeneration)iB A2 HiFEF o
ARALPORET R e HF ISR RS TEME R DAL 4 E Y s HF LA
= o ARA RREE MS % - Bk o

ARLAY 5 (Optic neuritis) » — fARA 5 e3¢ A (inflammation) » & & ¥ L efe MS 5 B B el

A4 % 34 (disorder) > 4F 4R.(diplopia)f=px 3% % p 2 (involuntary)#$ & (P% & > nystagmus) Z_¥ #b &
R AL o P RACAFAR A H B RISk E B % dF (brainstem) I8 A G M o = A4 B
&%ﬁ%iW#%w%4o

A 5 ek # 3EAR 4 50K (blurred vision) ~ BF ¢

=1 \-}1 ('U'

24 (dimming of colors) ~ 2 F] & P2 ZE %
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AP =3E | grRaRERT (ETET] |

Fom Y PR B § ~ 7 Bh(blind spots) ¥ X 2 L ATR R c g E AR T R BB S X A A R AT g
Fivo ki \‘/‘ii#‘@ﬁ&?i%ﬁ“ﬁlﬁ’\ﬁ_‘ PRy &£ XA &R F E(upto)- E T RfR
S PRA A & EATE TR ¥ 2 RIT ¥ (close-to-normal)AR. 4 o

ARAY 5K e IR (flare-ups) T at 4 € 2 0 BUR R~ 6 B RN AL B B
¢ Bk~ AR ﬁf%; Rt B ¥R ﬁ.i.&'_)ii'l‘ #r(cools off) fF » i 4t &7 £ Ap B mﬂtﬂ*ﬁkg =

l‘f(resolve) » i #h H U (be it)k 1 (ice packs) ~ = % (over-the-counter)i? & & « 2 4 ~
e b }\/é‘ﬂﬂ—?ﬂ' °
41. DL ESCEE G AT ERAE DA 2

(A) TERHINR @ﬁ%é’ﬂilﬁ?fi PR R S

(B) TEEZ R (placebo)4s MS Y 1B 5 F A (script) 1

(C) TEVERE RS F

D) ERARY MS EFHAY/IMIFT-(pamphlet)

42. MS B JIRTREEA B DU T UME R Z RS2 2

(A) FELHY(frigid)JmIE (B) (EImlE s (C) ~ZEHTFHEE (D) DA EEIE
43. DUNUMERGIUE SR iE R

(A) %% 3% (optic neuritis) HE*(nystagmus)%ﬂ%ﬁ?ﬁ(dipIopia)Ejﬁ‘Eﬁﬁ[@ﬁ(concomitantly)é;%é{g

(B) MS YR BERUIRA PRI 1R 7T

(C) JZE Al A R PY ] BE (£ (4% 3% (optic neuritis) I (aggravate)

() ==
44, FEAARSE > JEIEE MS U RTERY 7 A A TTREAE DL N Ub{E B E Qs g R B 2

(A) F55 (gastrointestinal) 224 HYIHST (B) THER R &RHINFSE
(C) REHNKFRATIHTE (D) AR (lymphatic gland)HY#H4E
45. DAUMa[E AN SO A (AT 2
(A) MS FEE 23R HH S E LR (B) JRA ~ RUSREL MS FEARHITETE
(C) SEHF MS K EEFEH (D) £ MS HRErYFR I
Article 2

BOF ¢3RE G RIEMAZ > v PEEH E G & % H(rhythmic)ds 128 24 i f5 %k
i%%ﬁeviz\ Pokto 24 AR AFE- R HOSREFR L G *;,%eeﬁp%iﬁi—ﬂi
(|n unison)$EE) ~ B3 45 ~ mEACILE > FEFBEH IR EEL P BT fr% RS- SPE 3 Y
(flirt) § 1€t i F8 & 3% (mating rituals) eh— 84 o
Ra o B AREe BHAERE G '}é‘-‘},%%(therapeutic)IEl e (EL 0 = 2 0 AESF RIS A
g ° B% 0 R4~ dancedinstinctively » T ® f - BRPFER (S 0 FIREA T F &% r’v’vi‘éﬁ%g_;{
e % > BFREEHCFE Rl e B2 Bl 32 5 2 { q\;?‘a;&gn,r.}?mv °
RS G - AR AR A B T AF SRR P afeR g ﬁfﬂght ~ B
B FEAE TR R B E I H BB E B AR S A Eend > S X T A
IERFE AIFIHIERADFH N 0 F P RS AT e &k JE (nightclub)iE
AL 15 e 4 4R f(rave dancing) e 3 38 > Wi dopt o B ESR ST Hin Rtk itk g R

gy

4
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AP =3E | grRaRERT (ETET] |

w5 & &k (low lights) ~ 58 &~ 3 5 en(insistent) & % 2 @856 > 5 ¥ FRAE = (building up into)
- fAF 2T & 2 (mass hysteria) 2 L& (ecstasy) °
R oo FRLIT A ‘}é'}%“’ R D e # }%@&%"’r@ 4 FIE + a1f #(revival) > B3 KL F
$HE BB R A B T s 11.%%&% R R W A TIRE S SR I S Y
B S B AY - s lﬁﬁ‘#@#;“é’ & Ak o 3; Fr o RS RAREGRE BN ¥
F]«*#‘po——/ F]lj; - T4 2 #f’ﬁ-lé“\‘lfawrfi Adde koo
46. '@MIEZFQ? RIS 7
A) SEPATE Fs— B8 720 (B) #EZEi(choreography)44F-5 (chronicle)
(C) NES G HI SR (D) BkEERVEIY) K s
47. &FEE%EB/D%EL%E@E ?
(A) BEEFSRY SRR
(B) RGN &5 G R EIZ= 0 (rhythmic) BB A IE mIHV R
(C) fH&EHYTTESE (medical practitioners) #EREZHA AR HIVHVERIE
(D) BT ¥t & AR 0lE t R SR AR T AR
48. TRIEASL - BETNERE (nightclub) SR EE AR Z A H 2
(A) EEfEEEEE) (B) EHEACHIRSR
C) Bk G (therapeutic) IR (D) EhiE (foster)fartRAIH 4N
49. DUNRAN SR R ARG & B E ?
(A) FEpTEF e E (flirt) 2z
(B) FEmyaHE HA NHHHE
(C) 17883 (medical practitioners) N EFEE i) &% & E. (take... seriously)
(D) FREDEF A e HENY) K B aa P
50. ASERE BRI A FRVEEES & » W2 -~ BE KRR ?
(A) R 7t te A EiZ=0Y (rhythmic) B E) 7 2 [ 4
(B) Ko 1 StHASERTE KB —E(mating ritual) iy —&L (77
(C) By T B S (alternative) B2 A= S B Y (R 4
D) & T SRR A=

=3
l:

cm
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	1. 一般人都誤會Avery、MacLeod、McCarty的實驗「證實」遺傳物質是DNA，但有鑒於當時的生化技術，他們的實驗結果一直無法徹底釐清其純化過的DNA是否完全沒有蛋白質污染，所以發表結論只能說造成肺炎球菌轉型的化學物質「應為」核酸。該結果直到1952年的Hershey–Chase experiment才利用S-35標定蛋白質、P-32標定去氧核糖核酸的方式，漂亮證明只有含P-32的DNA能成為遺傳物質，該實驗也就此平息DNA是否為遺傳物質的議論。該研究甚至也幫助Chase得到1969年諾貝爾生理或醫學獎的肯定。故考慮科學歷史與研究精確性，毫無懸念「真正證明」DNA是遺傳物質的為Hershey and Chase。





